
bandolim 
 24

q = 120

  
A   

  
   

  
     

Dm

    
F
 

  
   

  
     

     



E7

 
  
   

   


   
   

  



    




 
 
 

A

   
 
     





   


   





      
   G7


  
   

   
    

 
 


 

C

    
  


   

  

   



    
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
  

 
 

Bm

   
       



    

      
E7

           

       

  
A
  

  
   

  
     

  
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
   

F
  

  
   

  


  

   
     

E7

  
  
   

   



   

   
    

 
 

A

 


 
   

 



A7

  
  
      

D
      

  

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
    

D
º    

    
 

A

 


   

  
F7   





     

 
Bm

   
  

  
 

E7

  


     


 
 




A

 


  

 £ 
£






 26 

   
To Coda

 


 

£
 


E7  

£
 

  
£

 
 

A

  
£

 
  

£
 
  

E7

 
£

    
A

£ 
£




E7

  
£

 
F

7 
£

 
  

£
 
 

B
  

£
 
   

£
 

  
F7

 
£

   
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
 

B
£ 

£

 

F7


£





 

E7

  
£

 
  

£
 

A  
£

 
  

£


 
  

£
 

  A £ 
£


  

£
 


F7

  
£

 
 


 40 

    


 

£
 


B    

£
 


 

  

£





    
£

 
   Bb       

   


E7   
   

A

     
    

 
 

E7

  
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
   

A

  



     

E7

  



   


 

A

  
       

 


E7

  
 

  


   
A

       
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
   

Choro   
Am




   





B

  

  
    

 
 

E7

  


  


     

 
Am

           
   



    

 
 

Em

  





  

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







 
B7

   


     


E7            


Am

  


   





B

  

  
    

 
 

E7

  


  


     

 
Am

   

 A

7  

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
   

Dm    



G7

     


C

  
 

  
F7

      
B

   
 

  
E7

   
Am

    
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Suíte do Choro Contemporâneo
4. Abertura/Choros

Alegretto

1



      
   


     

              
     

                 




  
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      

       





      
    



   





   
  
    

 
    



  


     

    

   


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
   

    


      
   

 
  


      

   
 

  


           
   
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
 


E7   

   
A

     
    

 
 

E7

     
A

  


     
E7

  


   


 
A

  
  

     
 


E7

  
 
  


   

A


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
 

A7

   
 

 
   

D6

   
   

   
   



   

   
   

   


E7(9)

  
   

  


´D7


   

   
  



   
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
 

   
A7

   
   

   
   



    

       


D
  




    





 
  


   
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


 
  


G




 
 
     E7      

         
A7 


   
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
     

  
   

D6

   
   

   
   



  

   
   

   


E7(9)

  
   

   
   




   
  



   

   


A7

  
   

   
   



   

   
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
    


D

  



    

 


   


F°   

     
 

    

    




D
    

      
 


   



     

 
  

E7

 


  

   
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

 
  

A7

    



  


   



 
 

D

  



     

   
  

£
 

 
D

 
£

  
D

   
E7

  
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
1.

 
2.

 
D.S. al Coda


 

  





A

  
  





A7

  
  





D

  
  





Dm

   
  





A

  
  





E°
   

  




Bm

  
 
 

 
E7

   


 
A    

   
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  

  


 

   
   

 
  



    

  

  
 

    
   

    
 


  
 

  




 


A

   
A


  
 

  
    
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 

  
F
   

   
  

  



    

  







A










   

          

Dm6

          

       

 
     

 

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